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BEANRE SHSEES B L HELLE- B TE

£ kg B - ki BT H = B ® B wmE

BEEISE 30, 275, 158
R E& (—10m) 30, 275, 158
T 30, 275, 158
REXHWHE 12, 976, 600
REXHWHE 12, 976, 600
1T RELHHE 6, 200. 00 1,202 7,452, 400

m 3
2 ERRMEE 30kg/m3 186. 00 29,700 5,524, 200

t

R LEA - ER 17,298, 558
R LEA - ER 17,298, 558
3 #EA(UL—X) 5, 580. 00 225.1 1, 256, 058

m 3
4 +RYEER THMRE SRR XIT/MR 5, 580. 00 2,875 16, 042, 500

m 3
HEBERERE FEL) 1,046, 294
HBRZE 1,046, 294
T 693, 577
BNy 693, 577
b ERR/NYYERE 1.00 72,506 72, 506

=
6 AQER 1.00 271,711 271, 71

=
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1T RXRNyVEH 1.00 349, 360 349, 360
=
] 252,717
TEXE 252,717
8 RXBEME - K17 - RE 1.00 252, 17 262,717
=
RiTEEE 100, 000
RiTEEE 100, 000
9 RITEHEE 1.00 100, 000 100, 000
=




wiEk SHMSEESMELWELLE-ERTE

% g & - BARTE Bifg B 2 B ® & wmzE
EEIEH 30, 275, 158
REIEE 3,712,701 + 8,347,418 12,060, 119
HBEREE GDH 1,046,294 + 2,347,430 + 318,977 3,712,701
HBEREE (BE) 1,046, 294
HBRERE (%) 30,968,735 x 7.58% ((5.93% x1.00 +1.50%) x 1.02) 2,347,430
BSBRENER 30,968,735 x 1.03% 318,977
RISEER 33,987,859 x 24.56% ((22.82% +1.02%) x 1.03) 8,347,418
TR 30,275,158 + 12,060, 119 42,335,277
—REEEZ 42,335,277 x 18.96% (18.96% x 1.00) — 8,979 8,017,789
LRitRaE & 42,335,277 x 0.04% 16, 934
TSt 42,335,277 + 8,017,789 + 16,934 50, 370, 000
HBEREHELE 50,370,000 x 10.00% 5,037, 000
FRIZR 50,370,000 + 5,037,000 55, 407, 000
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51
2% RELRHER 350m3% Y (350m 3)
2 o g - BIRTE By = =i} %8 " =
HEE&
A 1.00 27,410.00 217,410
R IEXE
A 1.00 24, 680. 00 24,680
LEEXE
A 1.00 21, 840. 00 21,840
BHES
B 1.00 217, 955. 00 217,955
Ee# 88t
B 1.00 108, 816. 00 108, 816
AN 2H0%
% 5.00 400, 701. 00 20, 035
& b YE%8EH : 350.00m 3 1,202.00 420, 736
52
2 ERRMHE  30ke/m3 TtHyY
2 £ g - BIRTE By = =i} %8 " =
E1b#t ER/IRBHESZA D)
t 1.00 29, 700. 00 29, 700
& b 1E%REN :1.00¢t 29, 700. 00 29, 700
5 :3
2% : A (L—X) Tm334yY
2 £ g - BIRTE By = =i} %8 " =
A L—X)
m3 1.00 225. 1 225. 1
& it E%8EH : 1.00m 3 225. 1 225. 1
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x5 :4
2% TREER ITHRESBREEX)IT/MR 100m 3 &Y
2 L7 g - BIRTE By = =i} ) " =
497" MyhiEER
B 5. 000 57,517.00 287, 585
& it E%8EH : 100.00m 3 2,875.00 287, 585
F5:5
2 ERRNYYRE 154y
2 L7 g - BIRTE By = B ) " =
HEE&
A 0.50 27,410.00 13, 705
LU
A 1.00 26, 460. 00 26, 460
S7TL—riL—r HEEEIE]  16tA
B 0.50 51, 500. 00 25, 750
A 2H0%
% 10. 00 65, 915. 00 6, 591
& b 1E%8eHh 1. 006 72, 506. 00 72, 506
F5:6
B ANNER 1KY
2 L7 g - BIRTE By = =i} ) " =
L=
A 18. 00 15, 020. 00 270, 360
AN 2H0%
% 0.50 270, 360. 00 1, 351
& b 1EZRER : 1.00 271,711.00 271, 711
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&5 :1
& RNy VEH XLy
% o g - BIRTE BT = =i ] %8 " =
XNy VER
B 32.00 7, 730. 00 247, 360
ARy VERHEE
= 1.00 102, 000. 00 102, 000
& it 1EZRER - 1.00 349, 360. 00 349, 360
5 :8
B RBEEE - KR - RR XLy
% £ g - BIRTE BT = =i ] %8 " =
RBEFEEHEB
A 18. 00 13, 970. 00 251, 460
HME 2KDY%
% 0.50 251, 460. 00 1,257
& b 1EZRER : 1.00 252,717.00 252,711
F5:9
&% HftEEBE 1XEY
% £ g - BIRTE BT = =i ] %8 " =
HittEEE HRETMATE
= 1.00 100, 000. 00 100, 000
& it 1EZRER - 1,00 100, 000. 00 100, 000




